se the correct sign to compare the expressions below », £ or —
and explain.why your answer is correct by filling the blank spaces using the
following words: smaller, less than 1, larger, greater than 1
a 10x 3 10
4
Since % is multiply 10 by 3/4 makes the value
b. 6 X 9 )
5
Since g._/:, is ultiply 6 by 9/5 makes the value
C. 12 ;l 12x 2
5
Since ,;é is
po
d 7 7 x 2
2
e .
5 — oy
e 17 x 17
4
|
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Choose the/correct sign to compare the expressions below > I < or —
and explain why your answer is correct by filling the blank spaces using the
following words: smaller, less than 1, larger, greater than 1

a. wwx 3. < 10
4

Since 3/4 is less than 1, multiply 10 by 3/4 makes the value smaller.

Since 9/5 is greater than 1, multiply 6 by 9/5 makes the value larger.

c. 12 > 12x 2
5

Since 2/5 is less than 1, multiply 12 by 2/5 makes the value smaller.

d. 7 < 7 X

le

Since 3/2 is greater than 1, multiply 7 by 3/2 makes the value larger.

e. 17x_5_ > 17
4

(1]

Since 24 is greater than 1, multiply 17 by 5/4 makes the value larger.

1N
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